

# FORMULA GENERAL

PROFRA. PAULINA MERINO

COMPLEMENTA LOS PROCEDIMIENTOS PARA RESOLVER LA ECUACIÓN CUADRÁTICA

|   |  |
|---|--|
| $x^2 + 11x + 24 = 0$  | a= <input type="text"/>                      |
|   | b= <input type="text"/>                      |
|   | c= <input type="text"/>                      |
| $\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$  |  |
| $\frac{-(\text{ }) \pm \sqrt{(\text{ })^2 - 4(\text{ })(\text{ })}}{2(\text{ })}$ |  |
| $\frac{\text{ } \pm \sqrt{\text{ } \text{ } \text{ }}}{\text{ }}$                 |  |
| $\frac{\text{ } \pm \sqrt{\text{ } \text{ }}}{\text{ }}$                          |  |
| $x_1 = \frac{\text{ } + \text{ }}{\text{ }}$                                      | $x_2 = \frac{\text{ } - \text{ }}{\text{ }}$ |
| $x_1 = \frac{\text{ }}{\text{ }}$   | $x_2 = \frac{\text{ }}{\text{ }}$            |
| $x_1 = \text{ }$  | $x_2 = \text{ }$                             |